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Thursday, 2nd February  2006    (90 min.)
Please note: 

· At first please check the exam paper: are there 8 pages / all pages well readable?

· Please only work in the exam paper; use the boxes for your answers. You do not need own paper. 

· Your calculations should be shown. The complete solution method must be traceable! 
· You can achieve 90 points – in 90 minutes! => one minute is approximately worth one point; please consider the indicated scores.  The tasks are formulated that way that usually short answers are required. Therefore do not spend too much time with "inferior" tasks!  

· Permitted are:  Pens, ruler, calculator (without word processing function), dictionary German/English and the German-English. 
· Please do not use a pencil (except in diagrams) nor red pens

· Mobile Phones have to be switched off !
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1 PPF
[12 points]
1.1 Graph and describe a Production Possibility Frontier using an own example of two goods. (What’s the model about, who decides what, what do we learn?)
[6 pt]

Describe the concepts of opportunity costs and scarcity in this context. 
[3 pt]

1.2 Is the model about efficiency or equity? - explain why. 
[3 pt]

2 There are (at least) two possible economic systems to aim the principal objective of every economy - which? Describe the basic ideas of the systems and argue why one of them can be called “better” from a theoretical point of view. 
[7 points]
3 Economic Concepts
[11 points]
3.1 What does the “invisible hand of the marketplace” do? Who used this metaphor? 
[3 pt]

3.2 What is productivity and how is it measured? 
[4 pt]

3.3 Explain the two main causes of market failure and give an example of each. 
[4 pt]

4 Market Demand
[12 points]
4.1 Sketch a typical demand curve and describe in your words (and / or using a demand-function) what the determinants of demand are. Show the “law of demand”
[4 pt]
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4.2 Describe the influences of a) prices of the good itself; b) prices of other substitutes; c) tastes and d) income of the household. Which are exogenous, which are endogenous factors and how do these influence the demand function?
[4 pt]

4.3 Describe the concept of elasticity. Why do we measure elasticities / what do we learn from point of view of business decisions?  (It’s up to you whether you use verbal, graphical or formal descriptions. The basic way to compute an elasticity should be explained)
[4 pt]

	5 In a Perfect Competition market you observe the following data: 
[18 points]
price (€)
	demand
	supply 

	0
	860
	60

	30
	500
	180

	60
	140
	300


5.1 Derive the demand- and the supply-function. 
[2 p.]
qA = 200 + 100 p

qN = 1000 - 100 p
5.2 Compute the market equilibrium (p* and q*).
[3 p.]
Gleichgewicht:       200 + 200 p  =  1000 - 100 p
(  p* = 4            (GG-Preis)

einsetzen (in qA oder qN ergibt) 
( q* =  600           (GG-Menge)

5.3 Draw these functions in a graph.  Find the market equilibrium.
(Make sure to choose the appropriate scale for both axes - and don’t forget to label them!) 
[5 p.]

5.4 Assume the price would be fixed at 6 €. What would be the result? How do we call a situation like this? Can you find examples?
[4 p]
5.5 Is the demand elastic or inelastic? What about the supply?
[4 p]
6 A monopolist faces the following situation: 
[20 Points]
              AR: p = 2000 - 2 q            Cost function: TC = 1000 + 0.5 q²

a) Show this situation in a diagram:
( Average Revenue AR,    (  marginal Costs MC,   (  Marginal Revenue MR and  ( the Cournot point. 
[4 p]
(Remember to draw exactly and also remember to correctly label the axes).
[image: image3.wmf]
b) Calculate the optimal profit 
[3 Points] 


GewinnOpt bei K`= E`   (Grenzerlös = Grenzkosten) E = p * q = 1000 q -  2q2  (  E` = 1000 - 4 q

Ableitung der Kostenfunktion K` = 2q

Optimum bei 2q = 1000 - 4q   (  qM = 166,66    (  pM = 1000 - 2 qM = 666,66
GM = E - K = p * q –  (200 + q2) = 666 * 166,66 – 200 - 27.775,56 = 83.133,33

c) Compare the welfare in the graph (measured in consumers and producers surplus) in monopoly and in Perfect Competition. (Remember to draw exactly and also remember to correctly label the axes).
[5 Points]
[image: image4.wmf]
d) Compute the welfare for both cases numerically: calculate the respective consumers and producers surplus and also the welfare gain or loss. 
[5 Points]
e) Interpret the result in your own words.  
[3 Points]

7 On an oligopolistic market are two firms: Alpha and Beta. Both firms currently offer their goods for a price of 50. Accidentally they meet at a breakfast brunch and agree to increase the price to 60. The following matrix shows the quantities sold for the two different prices:
[10 Points]
	
	Beta

	Alpha
	
	Current price von 50
	Increased price 60

	
	Current price 50 
	( qA = 800 *50=  TR = 40.000
     qB = 800 *50=  TR = 40.000
 = 80.000  Nash-Gleichgewicht
	( qA = 900 *50=  TR = 45.000
     qB = 600  *60=   TR = 36.000 

 = 81.000

	
	Increased price 60
	( qA = 600   *60=  TR = 36.000
     qB = 900 *50=  TR = 45.000 

 = 81.000
	( qA = 700   *60=  TR = 42.000
     qB = 700   *60=   TR = 42.000 

 = 84.000   (kooperatives Resultat)


a) Compute the Payoff matrix, compute the total revenues for all situations. Also compare the economic welfare.  
 [5 P.]

Bei Preiserhöhung geht die nachgefragte Menge zurück. Trotzdem können in Situation ( beide ihren Umsatz erhöhen (scheinbar unelastische Nachfrage, aber darum geht es hier nicht ...:). Dagegen zeigen die Situationen ( und (, dass wenn nur ein Unternehmen die Preise erhöht, das andere einen erheblichen Teil der Marktes abdecken wird. 
Aus Wohlfahrtsicht ist die durch ein Kartell gewünschte Situation ( schlecht, da hier bei höherem Preis eine geringere Menge umgesetzt wird. (KR sinkt, PR steigt - gehört aber auch nicht hierher) 

b) Which strategy are the two firms going to follow? Describe why - using and explaining the game-theoretical approach.
 [5 P.]
Es geht um das Nash-Gleichgewicht: 
Für beide Unternehmen ist es so, dass für beide Entscheidungen des Konkurrenten es profitabler ist, die Preise nicht zu erhöhen. Damit landen wir im (nicht kooperativen) Nash-Gleichgewicht, in dem beide sich so entscheiden, dass sowohl die Umsatzsumme als auch die individuellen Umsätze geringer sind als in der kooperativen Situation. Konkret haben beide die dominante Strategie, die Preise nicht zu erhöhen und werden damit in Situation ( verbleiben. 

Good Luck !
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